_I..

A

F—2
F—2
ZT

BF

Bifzz
REE
IEAE S

FEOH

IRZEDES

=

4

11]4

BA

4 X (@1,000)

BINE




AR HER B A 5

"4
=L

Gy
B % 4
AT —h BF A
K % K
% % % %
oo G
ko * o
CF—4 DF—L
S % K
% o % %
B Gl
x 8 X
ESF—A FF—.A
S % S
% % %
B o
I 18




A
&
AF—1 BF—2
K S
%5 % % &
il Gl
x 8 x
CF—2 DF—A
S S
%5 6 % 8
B oo
X x
EF—2 FF—2
S S
%% 5 o
i -
X x




fIEA B GA B

Bilz

F4(BF)

B Kk 4 (5007%)

10

SHIARMRIIAEBOFEREE R T2,
¥oar—E Y FET LI REENZ TEADIL,




fIE A B A S

Fizd

B4 (&T) FEETLRAL TSN

i K 4 (5057%)

10

XA FRRIIARREORAEER DL,
Mot —Z B, FET LI REED R TRADIE,




